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(mm) yid a 13 (kg/cni)
0.5 3.5 40 3.75 31.71
1.0 15 8.0 7.75 65.54
1.5 12.0 12.5 12.25 103.59
20 16.0 165 | 16.25 137.42
2.5 19.5 20.0 19.75 167.02
3.0 23.5 240 | 23.75 200.85
5.0 33.5 34.0 33.75 285.42
1.5 43.5 440 43.75 369.99
10.0 51.0 51.5 51.25 433.42
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CBR=2.5mm(E A5&E) +-1370 X 100(%)= 12.19
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40.0 555.0 555.0 0 0 100.00
375 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 574.4 574.4 0.0 0.00 100.00
9.5 825.6 543.8 281.8 18.01 81.99
6.7 827.1 479.5 347.6 22.21 59.78
4.75 794.1 529.4 264.7 16.91 42.87
2.36 832.1 491.2 340.9 21.78 21.09
1.180 759.9 465.4 294.5 18.82 2.27
0.425 384.2 351.7 32.5 2.08 0.19
0.075 308.1 305.1 3.0 0.19 0
0.0 348.2 348.2 0.0 0 0
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